C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
1) Each day the gumball machine in the mall sells 728 gum balls. How many gum balls
would they have sold after 258 days? 1
2.
2) A lawvn mowing company had 219 customers. If each customer paid 946 dollars a year,
how much money would they make? 3.
4.
3) Theice machinein the lobby of a hotel makes 486 pieces of ice aday. How much ice
would it have made if it ran for 125 days? 5.
6.
4) A school district ordered 350 new science text books. If each text book had 717 pagesinit,
how many pages are there total in al the text books? 7.
8.
5) Thereare 427 hotelsin ahotel chain. If each hotel has 448 rooms, how many rooms are
there total ? Q.
10.

6) A farmer has 292 rows of corn. If he can get 754 ears of corn from each row, how many
ears of corn would he have total ?

7) A pizzachain uses 526 grams of cheese on their pizzas. If they sold 820 pizzas, how many
grams would they have used?

8) A pallet of toggle bolts weighs 605 kilograms. If awarehouse has 278 pallets, what is their
total weight?

9) A vat of orange juice contains the juice from 614 oranges. If acompany has 208 vats, how
many oranges would they useto fill them all?

10) A candy store had 958 empty shelves. If each shelf can hold 590 pieces of candy, how
many pieces would they need total to fill up all the shelves?
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ﬂh Finding Product (3 x 3) Name: Answer Key

Solve each problem. Answers
1) Each day the gumball machine in the mall sells 728 gum balls. How many gum balls
would they have sold after 258 days? 1 187,824
2. 207,174
2) A lawvn mowing company had 219 customers. If each customer paid 946 dollars a year,
how much money would they make? 3. 60,750
4. 250,950
3) Theice machinein the lobby of a hotel makes 486 pieces of ice aday. How much ice
would it have made if it ran for 125 days? 5. 191,296
6. 220,168
4) A school district ordered 350 new science text books. If each text book had 717 pagesinit,
how many pages are there total in al the text books? 7. 431,320
s. 168,190
5) Thereare 427 hotelsin ahotel chain. If each hotel has 448 rooms, how many rooms are
there total ? o. 127,712
10. 965,220

6) A farmer has 292 rows of corn. If he can get 754 ears of corn from each row, how many
ears of corn would he have total ?

7) A pizzachain uses 526 grams of cheese on their pizzas. If they sold 820 pizzas, how many
grams would they have used?

8) A pallet of toggle bolts weighs 605 kilograms. If awarehouse has 278 pallets, what is their
total weight?

9) A vat of orange juice contains the juice from 614 oranges. If acompany has 208 vats, how
many oranges would they useto fill them all?

10) A candy store had 958 empty shelves. If each shelf can hold 590 pieces of candy, how
many pieces would they need total to fill up all the shelves?

1-10 90|80 70|60 |50]40]30]20[10] O |

[ M ath ] www.CommonCoreSheets.com




C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
127,712 187,824 220,168 60,750 250,950
431,320 207,174 168,190 191,296 565,220 1.
1) Each day the gumball machine in the mall sells 728 gum balls. How many gum balls 5
would they have sold after 258 days? '
3.
2) A lawn mowing company had 219 customers. If each customer paid 946 dollars ayear,
how much money would they make? 4.
5.
3) Theice machinein the lobby of a hotel makes 486 pieces of ice aday. How much ice
would it have made if it ran for 125 days? 6.
7.
4) A school district ordered 350 new science text books. If each text book had 717 pagesin it,
how many pages are there total in al the text books? 8.
9.
5) There are 427 hotelsin ahotel chain. If each hotel has 448 rooms, how many rooms are
there total ? 10

6) A farmer has 292 rows of corn. If he can get 754 ears of corn from each row, how many
ears of corn would he have total ?

7) A pizzachain uses 526 grams of cheese on their pizzas. If they sold 820 pizzas, how many
grams would they have used?

8) A pallet of toggle bolts weighs 605 kilograms. If awarehouse has 278 pallets, what istheir
total weight?

9) A vat of orange juice contains the juice from 614 oranges. If acompany has 208 vats, how
many oranges would they useto fill them all?

10) A candy store had 958 empty shelves. If each shelf can hold 590 pieces of candy, how
many pieces would they need total to fill up all the shelves?
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